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1.  "?@>A 1 #5@52>4 ?@54;>65=8O A 0=3;89A:>3> =0 @CAA:89 O7K: (2@5<5=0 0=3;89A:>3> O7K:0) (Oral 

translation from English into Russian): 
1) One lecturer in social science stated that the university already used contemporary media 

examples. 

"B25B: "48= 87 ;5:B>@>2 ?> >1I5AB25==K< =0C:0< 70O28;, GB> 2 C=825@A8B5B5 C65 
8A?>;L7>20;8AL A>2@5<5==K5 >1@07FK % �. 

2 'AB=K9 >?@>A ?> D>@<0BC FCE exam (Oral test): 

1) What are the main criteria of assessment of Essay? 
"B25B: Content, structure, vocabulary, grammar, spelling and punctuation. 

2) How many parts of FCE exam are there? 

"B25B: 5. Reading, letter, use of English, listening, speaking. 
2.  %>15A54>20=85 

 (CAB=>5 @5G52>5 
2KA:07K20=85 ?> D>@<0BC 
FCE) 

1. �>?@>AK: 

What are new ways people can use digital tools to change the world? 

How is digital learning going to change schools and education? 

Does the Internet need controls or censorship? What kind? 

Would having cars that drive themselves be a good or bad idea? 
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 "F5=>G=O5 <5@>?@8OB8O #@8<5@O B8?>2OE :>=B@>;P=OE 7040=89 

How might travel in the future be different? 

2. %@02=5=85 :0@B8=>:: 
I will give you two pictures. They both show different kinds of education. 

Compare and contrast these pictures. Say what is common and different between them and form of 

education do you prefer.  
3. �80;>3 (2 ?0@0E) 
Discuss with your partner the following: The most important role for modern technology is played by 

automation. 
3.  &5AB8@>20=85 ?> D>@<0BC 

FCE 

(� 7028A8<>AB8 >B F5;8 B5AB8@>20=8O 2K?>;=O5BAO =0 stud.lms.tpu.ru; exam tpu.tu; design.tpu ru 8;8 
ABC45=B0< ?@54JO2;O5BAO 1C<06=K9 20@80=B B5AB0). 
�>?@>AK: 

1 Complete the second sentence so that it has a similar meaning to the first sentence, using the 

word given. Do not change the word given. You should use from two to five words, including the 

word given. 

Robert is still decorating the flat.  FINISHED  

    Robert &&&&&&&&&&&&&. the flat yet. 
"B25B: Robert has not finished the flat yet. 

 

2 Read the sentences and decide which answer (A, B or C) best fits each gap. 

In banks, computers _____ information about the money held by each customer. 

a) protect    b) store   c) deposit 

"B25B: b 

 

3 You will hear people talking in eight different situations. For questions 1-8, choose the best 

answer (A, B or C). 

1) You overhear a woman recommending a campsite. 

Why does she recommend it? 

A It's close to tourist attractions. 

B It's in an area of natural beauty. 

C It has a wide range of facilities. 

"B25B: B 

 

4 Choose the correct option. 
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1 I ____ different types of equipment since 2005. 

a) occupied   b) have occupied  c) had occupied 

2 The boss asked John if this system  _____ in their company. 

a) will be implemented b) would be implemented  c) implemented 

"B25B: 1 b, 2b. 

 

5 You are going to read an article about new types of university courses. Seven sentences have 

been removed from the article. Choose from the sentences A-H the one which fits each gap. There 

is one extra sentence, which you do not need to use. 
A  The University of California, which has a huge reputation to uphold, said that there had been no 

dumbing down in the design of the course. 

B  TV shows have long launched spin-off products in the form of merchandise and video games. 

C  If successful, the edutainment experiment could spawn a huge range of other TV show/university 

hybrid courses. 

With an audience of 10 million, student numbers for the course are expected to be in the hundreds of 

thousands. 2____ Academics from the University of California say that the online course will be a 

8legitimate educational experience9 and tackle serious issues from the fields of science, public health, 
nutrition, psychology and sociology. 3_____     However, students will gain no formal qualifications or 

credits on successful completion of the course. 4 ____   It insisted that all modules had been made as 

academically rigorous as those taught on the university grounds.   

"B25B: 4 C. 

 

6 Read the text and fill the gaps 1–6 with the most suitable missing sentences A–G. There is one 

extra option, which you don’t need to use. 
Ubiquitous computing is a new approach in which computer functions are integrated into everyday life, 

often in an invisible way. (1) _____. Ubiquitous devices can be anything from smartphones to tiny 

sensors in homes, offices and cars, connected to networks, which allow information to be accessed 

anytime and anywhere. (2) _____. 

A For example, when a regular alarm system senses that someone is breaking into the house, it 

usually alerts the alarm company and then the police.  

B  It is also known as pervasive computing. 

"B25B: 1B, 2A. 
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7 Choose the best letter to fill the spaces. 

A first time for everybody 

Joe stepped onto the aeroplane and was met by one of the cabin crew who showed him to his seat. This 

was his first flight and he was feeling quite nervous. His hands were 1 ----- slightly and he was breathing 

deeply. He walked along the 2----- of the plane and found his seat. Joe had spent a lot of time on 

planning his holiday, given this was the first time he had been abroad.  

1 A moving    B trembling        C jumping           D rattling 

2 A corridor    B path        C lane          D aisle 

"B25B: 1 B, 2 D. 

 

8 Read the text and then write the correct form of the word in CAPITALS to complete the gap. 

Dress Code 

The authors of the report made a (1) ______________________ between COMPARE 

the UK and other European nations where employers seem (2) ______________________ CONCERN 

about the need for their workers to wear smart clothes in the office.   

"B25B: comparison, concerned. 

 
4.  #@575=B0F8O Choose a topic and make a presentation. 

1 Smart technologies. 

2 Higher education in Europe. 

3 Tourism around the world. 
5.  %>G8=5=85 

(?8AL<5==>5 @5G52>5 
2KA:07K20=85 ?> D>@<0BC 
FCE) 

#8AP<>: 
You should answer a letter (140 -190 words) you have received from a university partner, which 

suggests that you could spend three months studying English in the United States.  

 Address your letter to professor Hutchison.  

1 Ask if you could study another subject in English;  

2 Explain your motivation for studying;  

3 Give a brief description of your academic interests;  
4 Ask him about preferred start date and length of the course. 

6.  �0GёB �>?@>AK =0 70GёB: 
1. Should information technologies and Internet availability make work from home the norm? 

2. Is English important for your future career? 

3. Would you like to be a scientist? Why/Why not? 
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 "F5=>G=O5 <5@>?@8OB8O #@8<5@O B8?>2OE :>=B@>;P=OE 7040=89 

%@02=5=85 :0@B8=>:: 
I will give you two pictures. They both show various technological advances. 

Compare and contrast these pictures. Say what is common and different between them and what is 

more useful or useless?  
�80;>3: Nanotechnology is the science of making devices from single atoms and molecules. 

5.  5B>48G5A:85 C:070=8O ?> ?@>F54C@5 >F5=820=8O 

 "F5=>G=O5 <5@>?@8OB8O #@>F54C@0 ?@>2545=8O >F5=>G=>3> <5@>?@8OB8O 8 =5>1E>48<O5 <5B>48G5A:85 C:070=8O 

1.  "?@>A "?@>A ?@>2>48BAO ?8AL<5==> 8;8 CAB=> 2 :>=F5 8;8 =0G0;5 ?@0:B8G5A:>3> 70=OB8O A F5;LN 
0:BC0;878@>20BL 87CG5==K9 ;5:A8G5A:89 8/8;8 3@0<<0B8G5A:89 <0B5@80;. �>7<>6=K  
D@>=B0;L=K9 8 8=48284C0;L=K9 284K >?@>A0. 
�@8B5@88 >F5=820=8O: 
$0725@=CBK9 >B25B (CAB=K9 8;8 ?8AL<5==K9) 0,6 – 3 10;;0. 
�@0B:89 >B25B (CAB=K9 8;8 ?8AL<5==K9) 0-0,5 10;;0. 

2.  %>15A54>20=85 !0 ?@>2545=85 A>15A54>20=8O >B2>48BAO 15 <8=CB, 87 =8E 2 <8=CBK =0 >B25BK =0 2>?@>AK (1 

G5;.), 1 <8=CB0 =0 ?>43>B>2:C >B25B0 =0 7040=85 ?> :0@B8=:0<, >?8A0=85 :0@B8=>: 2-3 <8=CBK, 5 
<8=CB =0 480;>3. 
�@8B5@88 >F5=820=8O: 
%>45@60=85 2KA:07K20=8O 8 153;>ABL @5G8 - (0-3 10;;0); 
�5:A8:0 (@07=>>1@0785 8 ?@028;L=>5 C?>B@51;5=85) - (0-3 10;;0); 
�@0<<0B8:0 (@07=>>1@0785 8 ?@028;L=>5 C?>B@51;5=85) - (0-3 10;;0); 
#@>87=>H5=85- (0-1 10;;). 

3.  &5AB8@>20=85 &5AB8@>20=85 ?@>2>48BAO ?> @5F5?B82=K< 2840< @5G52>9 45OB5;L=>AB8 - GB5=8N 8 0C48@>20=8N, 
0 B0:65 ?@>25@ONBAO ;5:A8:>-3@0<<0B8G5A:85 =02K:8. �A?>;L7CNBAO @07;8G=K5 D>@<K B5AB>2KE 
7040=89: <=>65AB25==>3> 2K1>@0, =0 A>>B25BAB285, 7040=8O A :@0B:8< >B25B><. �0948B5 =0 
stud.lms.tpu.ru 8;8 design.tpu ru 8 2K15@8B5 =5>1E>48<K9 :C@A 2 A>>B25BAB285 A @59B8=3 ?;0=><; 
=0 exam.tpu.ru 2K15@8B5 «%5@B8D8:0F8>==K9 M:70<5= ?> 8=>AB@0==K< O7K:0<». �>7<>6=> 
8A?>;L7>20=85 1C<06=>3> 20@80=B0 B5AB0. �@8B5@88 >F5=820=8O 70 :064>5 7040=85 B5AB0 
20@L8@CNBAO 2 7028A8<>AB8 >B D>@<K 7040=8O 8 F5;8 B5AB8@>20=85.  0:A8<0;L=>5 :>;8G5AB2> 
10;;>2 70 B5AB – 3. 

4.  #@575=B0F8O �K1@0BL B5<C ?@575=B0F88 4;O ?@54AB02;5=8O =0 ?@0:B8G5A:>< 70=OB88, A>3;0A>202 55 A 
?@5?>4020B5;5<. �>;8G5AB2> A;094>2 – =5 1>;55 10, 2@5<O 2KABC?;5=8O 5-7 <8=CB.  
�@8B5@88 >F5=820=8O: 
%>45@60=85 2KA:07K20=8O 8 153;>ABL @5G8 - (0-3 10;;0); 
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 "F5=>G=O5 <5@>?@8OB8O #@>F54C@0 ?@>2545=8O >F5=>G=>3> <5@>?@8OB8O 8 =5>1E>48<O5 <5B>48G5A:85 C:070=8O 

�5:A8:0 (@07=>>1@0785 8 ?@028;L=>5 C?>B@51;5=85) - (0-1 10;;); 
�@0<<0B8:0 (@07=>>1@0785 8 ?@028;L=>5 C?>B@51;5=85) - (0-1 10;;); 
#@>87=>H5=85 - (0-1 10;;); 
�8709=: >D>@<;5=85 A;094>2 =5 ?5@53@C65=> B5:AB><, 8;;NAB@0F88, 3@0D8:8 8 B01;8FK 
A>>B25BAB2CNB B5<5 – (0-1 10;;). 

5.  %>G8=5=85 
(?8AL<5==>5 @5G52>5 
2KA:07K20=85 ?> D>@<0BC 
FCE) 

!0 2K?>;=5=85 7040=8O >B2>48BAO 45 <8=CB, @07@5H05BAO 45;0BL G5@=>2K5 70?8A8, :>B>@K5 =5 
?@>25@ONBAO 8 =5 CG8BK20NBAO ?@8 >F5=820=88 @01>BK. 
�@8B5@88 >F5=820=8O: 
%>45@60=85 (0-2 10;;0); 
"@30=870F8O B5:AB0 (0-2 10;;0); 
/7K:>2>5 >D>@<;5=85 B5:AB0 (@07=>>1@0785 8 ?@028;L=>5 C?>B@51;5=85 ;5:A8G5A:8E 548=8F, 
@07=>>1@0785 8 ?@028;L=>5 C?>B@51;5=85 3@0<<0B8G5A:8E AB@C:BC@, A>1;N45=85 ?@028; 
>@D>3@0D88 8 ?C=:BC0F88) (0-3 10;;0). 

6.  �0GёB �0GёB >ACI5AB2;O5BAO 2 A>>B25BAB288 A #>;>65=85< > ?@>2545=88 B5:CI53> :>=B@>;O 8 
?@><56CB>G=>9 0BB5AB0F88 &#'. 

�0GёB 2:;NG05B 2 A51O 7040=8O 2 ?@>4C:B82=KE 2840E @5G52>9 45OB5;L=>AB8: 3>2>@5=88 8 ?8AL<5. 
 

�@8B5@88 >F5=:8 >B25B0 =0 70G5B5: 
"B25B >F5=8205BAO >B 15 4> 20 54лл>6, 2 B>< A;CG05, 5A;8 >= A>>B25BAB2C5B A;54CNI8< 
:@8B5@8O<: :><<C=8:0B82=0O 7040G0 2K?>;=5=0 ?>;=>ABLN. "B25BK =0 2>?@>AK 40=K ?>;=>, 
B>G=> 8 @072ё@=CB>. �KA:07K20=85 ;>38G=> 8 ?@028;L=> AB@C:BC@8@>20=>, 8A?>;L7CNBAO 
@07=>>1@07=K5 A2O7CNI85 M;5<5=BK. $5GL 153;0O, ?0C7K E578B0F88 =5<=>3>G8A;5==K. 

�A?>;L7C5<K9 ;5:A8G5A:89 <0B5@80; A>>B25BAB2C5B ?>AB02;5==>9 :><<C=8:0B82=>9 7040G5. 
�5<>=AB@8@C5BAO 1>;LH>9 A;>20@=K9 70?0A. �5<>=AB@8@C5BAO H8@>:>5 @07=>>1@0785 
3@0<<0B8G5A:8E AB@C:BC@, >H81:8 ?@0:B8G5A:8 >BACBAB2CNB, 2KA:07K20=85 >D>@<;5=> 
3@0<<0B8G5A:8 /8 >@D>3@0D8G5A:8 ?@028;L=> 2 A>>B25BAB288 A ?>AB02;5==>9 7040G59.      
 

"B25B >F5=8205BAO >B 10 4> 15 10;;>2 2 B>< A;CG05, 5A;8 :><<C=8:0B82=0O 7040G0 2K?>;=5=0. 
�KA:07K20=85 ;>38G=>, A2O7CNI85 M;5<5=BK 8A?>;L7CNBAO ?@028;L=>. � @5G8 <>3CB 
?@8ACBAB2>20BL ?0C7K E578B0F88. �A?>;L7C5<K9 ;5:A8G5A:89 <0B5@80; A>>B25BAB2C5B 
?>AB02;5==>9 :><<C=8:0B82=>9 7040G5. �5<>=AB@8@C5BAO 4>AB0B>G=K9 A;>20@=K9 70?0A 4;O 
2K?>;=5=8O 7040=8O. !0;8G85 ;5:A8G5A:8E >H81>: =5 70B@C4=O5B ?>=8<0=85. �5<>=AB@8@C5BAO 
@07=>>1@0785 3@0<<0B8G5A:8E AB@C:BC@ 2 A>>B25BAB288 A ?>AB02;5==>9 7040G59, 
>@D>3@0D8G5A:85 >H81:8 8 >H81:8 2 A;>6=KE 3@0<<0B8G5A:8E AB@C:BC@0E =5 70B@C4=ONB 
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 "F5=>G=O5 <5@>?@8OB8O #@>F54C@0 ?@>2545=8O >F5=>G=>3> <5@>?@8OB8O 8 =5>1E>48<O5 <5B>48G5A:85 C:070=8O 

?>=8<0=85 2KA:07K20=8O. 
 

"B25B >F5=8205BAO >F 5 4> 10 54лл>6 2 B>< A;CG05, 5A;8 :><<C=8:0B82=0O 7040G0 2K?>;=5=0 
G0AB8G=>. �KA:07K20=85 =5 2A5340 ;>38G=>, 8A?>;L7CNBAO ?@>ABK5 A2O7CNI85 M;5<5=BK. � @5G8 
?@8ACBAB2CNB <=>3>G8A;5==K5 ?0C7K E578B0F88. �5<>=AB@8@C5BAO >3@0=8G5==K9 A;>20@=K9 
70?0A, G0AB> 2AB@5G0NBAO ?>2B>@5=8O, >H81:8 <>3CB 70B@C4=OBL ?>=8<0=85. !01;N40NBAO 
<=>3>G8A;5==K5 >@D>3@0D8G5A:85 >H81:8 8 >H81:8 2 ?@>ABKE 3@0<<0B8G5A:8E AB@C:BC@0E.  
 

"B25B >F5=8205BAO :0: =5G4>6л5F6>р<F5лP=O= 2 A;CG05, 5A;8 >3@0=8G5==>5 2;045=85 
3@0<<0B8G5A:8< <0B5@80;>< =5 ?>72>;O5B 2K?>;=8BL :><<C=8:0B82=CN 7040GC, A;>20@=K9 70?0A 
>3@0=8G8205BAO >B45;L=K<8 A;>20<8 8 :>@>B:8<8 =5A2O70==K<8 D@070<8, <=>3>G8A;5==K5 
>@D>3@0D8G5A:85 >H81:8/>H81:8 2 ?@>87=>H5=88 8 8=B>=0F88 ?@5?OBAB2CNB ?>=8<0=8N 
2KA:07K20=8O. 

 

 

 


